Changing The Subject Of A Formula

Complete as many questions as you can from Exercise 5N
in 10 minutes

CHAPTER 5: ALGEBRA 1

el
T=3k Make k the subject. : { AINTS AND TIPS )
X=y-1 Express y in terms of X. ' Remember about inverseq
, operations, and the rule
p ) | “change sides, change
Q= 3 Express p in terms of Q. L signs”. 4
A= 4r' +9 Make r the subject.
@ W=3n-1 Make n the subject.
p=m+t a Make m the subject. b Make ¢ the subject.
g= % Make m the subject.
@ =’ Make m the subject.
C=2mr Make r the subject.
A= bh Make b the subject.
P=2l+2w Make [ the subject.
@ m=p'+2 Make p the subject.
v=u+at a Make a the subject. b Make ¢ the subject.
A= % nd?, Make d the subject.
W=3n+t a Make n the subject. b Express ¢ in terms of n and W.
x=5y-w a Make y the subject. b Express w in terms of x and y.
&« =2p° Make p the subject.
v=u?-t _a Make 1 the subject. b Make u the subject.
k=m + n? a Make m the subject. b Make n the subject.
€D 7=5" Make r the subject.
©@DK=5n"+w a Make w the subject. b Make n the subject.



In questions 1 to 10, make the letter in brackets the subject of each formula.

@D 3x+2)=2-y W @30+ 2) =2y )
@s5-22 W @ ria+b=ga-b
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2> @30+ 2)=2c-y)

é3+23 = {x— 3
gt‘ - — X

4) & ria+b - gla-b) (a)
po & '06 = ‘],“"‘Irl:’
Pr ~44 = —7,5 —pb
*(e-1) = —1b-pb

A = -‘1,"""5 or ﬁ,L*FL or h(ﬁ,—*/")
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é) @A=2mh+nrk (0
A = V‘(‘Zﬂk +ﬂl—<)
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A - or r A

g) @st-N=2r-3 (»



S&’Su’ = 2 =73
S€+3 2 20 & o0
s€ +7 = WCZ+S)
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£ —2@ = x -3
Rx — = 2R~-3

x(e-1) = 2r-3
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@3 a+2 = 2La+7

Qs p = Ya +§
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